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00000 $0\left(n\log n\right)-O\left(1\right)$

#include <iostream>
#include <cstdio>
#include <algorithm>
#include <cstring>
#include <cctype>
#include <vector>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1)
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();

lisdigit(c sign|=c=="'-";c=getchar();
isdigit(c)){t=(t<<l)+(t<<3)+(c&l5);c=getchar();
sign?-t:t;

inline void write(LL x
register char c[21],len=0;
I'x putchar('0'),void();
x<0)x=-x,putchar('-"');
X)cl++len|=x%10,x/=10;
len)putchar(c/len--1+48);

inline void space(LL x){write(x),putchar(' ');
inline void enter(LL x){write(x),putchar('\n');
const int MAXN=5e5+5,MAXM=21;
unsigned int s;
inline unsigned int get(unsigned int x

X =x<<13;

XN=x>>17;

X"=x<<5;

S=X;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,m;

void Insert(int u,int v
edge[++m| .to=v;
edge m|.next=head|u];
head[u|=m;

int d[MAXN!|,fa[MAXN![MAXM|,log 2 MAXN];
int h_son!/MAXN|,mson|[MAXN|,p[MAXN|;
vector<int> Node up/MAXN|,Node down|MAXN];
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void get log2
log 2[0]=-1;
_for(i,1,MAXN
log 2[il=log 2[i>>1]+1;

void dfs 1(int u,int depth
mson|u|=d/ul=depth;
_rep(i,1,log 2[dlu
falullil=falfalull1i- i-11;
int i=head|u];i;i=edge[i].next
int v=edgel|i].to;
dfs 1(v,depth+1);
mson|v/>mson|u
h sonlul=v;
mson[ul=msonv];

void dfs_2(int u,int top
plul=top;
u==top
int i=0,pos=u;i<=mson|u]-d
Node uplul.push back(pos);

ul;pos=falpos

,1++

int i=0,pos=u;i<=mson|ul/-d/ul;pos=h_son|[pos|, i++

Node downu!.push back(pos);

h sonlu
dfs 2(h sonlul,top);
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
v==h son/u

dfs 2(v,v);

int query(int u,int k
Ik u;
u=falul[log 2|/k!]|,k-=1<<log 2[k];
k-=d[ul-d[plul],u=plul;

k>=0?Node up/u![k]:Node downiul|[-k]|;

int main

int n,q,root,Xx,y;

cin>>n>>Qq>>s;
_rep(i,1,n
fall =read _int();
fali
Insert(fali ,1);
root=i;

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

e g 02021 teams €02l SHINg: X200 s ik cubbacm. com/doku pip?ic=2020-2021:tearms: legal_string:jxm2001 HEQ%OSHBFHEIIIHBERESHBI%ICUESHE8%868rev=1590761571

22:12

get log2();

dfs 1(root,0);

dfs 2(root, root);

long long tot=0,last=0;

int u,k;

_rep(i,1,q
u=(get(s)~last)%sn+1;
k=(get(s)”last)%(dlul+1);
last=query(u,k);
tot”=last*i;

enter(tot 7
0;
ooog
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#include <cstdio>
#include <algorithm>
#include <cstring>
#include <cctype>
#define for(i,a,b) for(int i=(a);i<(b);++1)
#define rep(i,a,b) for(int i=(a);i<=(b);++1i)
using namespace std;
typedef long long LL;
inline int read int
int t=0;bool sign=false;char c=getchar();
lisdigit(c sign|=c=="'-";c=getchar();
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isdigit(c)){t=(t<<l)+(t<<3)+(c&

sign?-t:t;

inline void write(LL X
register char c , len=0;
I X putchar('0'),void();
x<0)x=-x,putchar('-");
X)cl++len|=x%10,x/=10;
len)putchar(c|len-- |+ ;

inline void space(LL x){write(x),putchar

inline void enter(LL x){write(x),putchar('\n'

const int MAXN=5e5+5;
struct Edge
int to,next;
edge MAXN<<1];
int head MAXN!,m;
void Insert(int u,int v
edge[++m].to=v;
edge m|.next=head|u];
head[ul=m;

int d[MAXN],Son|[MAXN],len[MAXN];

;c=getchar

’

LL *f[MAXN|,*g/MAXN|,dp/MAXN<<2 |, *pos=dp,ans;

void Malloc(int u
flul=pos,pos+=leniul<<l;
glul=pos,pos+=len|ul<<l;

void dfs 1(int u,int depth,int fa
d/ul=depth;Son|ul=0;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
v==Tfa

dfs 1(v,depth+1,u);
len/vi>1len[Son|u
Son|ul=v;

len{ul=len[Soniul |+1;

void dfs _2(int u,int fa
Sonlu
flSon(ul|=flul+1l,g/Sonlull=glu]-
dfs 2(Soniul,u);

flu =1,ans+=g|u ;
int i=head(u];i;i=edge[i].next
int v=edgeli].to;
==fa||v==Son|u

’

Malloc(v);

’

’

CVBB ACM Team - https://wiki.cvbbacm.com/



Last

update: 2020-2021:teams:legal_string:jxm2001:
2020/05/29 oooo

22:12

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E9%95%BF%E9%93%BE%E5%89%96%E5%88%86&rev=1590761571

dfs 2(v,u);
_for(i,0,lenlv
i) ans+=flul[i-1]*glv][i];
ans+=glul [i+1|*f[v][i];

_for(i,0,lenlv
glu] [i+1]+=Ff[u] [i+1]*Ff[v][i];
i) glul[i-1l+=glv][i];
flulli+l]+=f[v][i];

int main

int n=read int(),u,v,root=1;
_for(i,1,n
u=read int();v=read int();
Insert(u,v);
Insert(v,u);

dfs 1(root,0,0);
Malloc(root);
dfs 2(root,0);
enter(ans);
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